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The Governor of avery S '
lale in In
appoinied by whom 7 i e

_IA) President
(B) Prime Minister
(C) Chiel Minister

(O) None of tha above

Masonry consist of blocks of accuralely

dressed stone with extremely fine bed and
end joint are called

(A) Ashlar masonry
(B) Random rubble masonry

{€) Square rubble masonry
(D) Flint masonry

Haryana was earler known as
(A) Brahmavara

(_J'FJ' Brahmavana

(8) Jal Bharat

(D) Bharatvarsha

If the ratio of two numbers Is 3 ; 4 and their
H.C.F. is 4, then thair L.C.M. Is

(A) 12 (B) 16

(C) 24 ©) 48

2

J. {x+1)(x+logx) i

X
1

x+logx

+C

(A)
(B) (x +I;gx]3 £a

1

— S 5 %
(x +log :l:)2
(D) none of these

()

Le Chatelier method is used lo detemmine
property of Iha cement.

(A} Fineness

(8) Spa-l:iﬁﬂ gl'ﬂ‘nl"[ff
() Soundness
(D) Setting ime
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(A) Tl

(8) FuTH

(C) E@qﬂ[
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(A) R AEAd

(B) ttﬁ,'ﬁﬁ‘mqm

(C) & 3Tmg FEAl

(D) SF9F
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() e (D) W=
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(A) 12
(C) 24

& 99 8 9

(B) 16
(D) 48

(x +1) {x + log x)
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1

+C
X+logx

dx =

(A)

3
(B) (x +!uagu} ia

{C) L +C
(x+log m:]‘r2

(D) 78 A =
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T e % fore, g gt @ |

(A) WeHaT

() Rire Tem

(C) =walt

(D) =& =1 wwg

A

|t""‘|!-" i‘-""



7. e LT

nto existence asn
n the year

1" Seplember, 1056
1™ October, 1966
1" November, 1966

Haryana camg |
S@parale Sialp |

(A)
(8)
AC)

(D) 1" December, 1866

@. Al a certain lime a radioactive sample

contains 2 x 10™ aloms andlis disintegration
rateis 3 x 10'° atoms/second. When 2 x 10"
atoms are lell to decay, its disintegration

rate will be

(A) % % 10% atoms/second

(B) 0.693 = 10'° atoms/second
(C) 3= 10" atoms/second
(D} 3 x 10* atoms/second :

9. The curve of varying radius Introduced
batween two branchas of compound curve

Is called

(A) Compound curve
(B) Transition curve
(C) Simple curve

(D) Reverse curve

In a binary coda, set of glght elements
requires 8 ' bit r:‘uda.

(A) 2-bit (8) 4'hf'

(C) 3-bit (0) 8-bit

indira Gandhl University was jocatod at
(B) Hisar

(D) Ambala

10.

11.
(A) Kamal

j
J.Gj‘ Rawar )
The nodal minlstry for the Pradhan Manif
iy Sjm:hﬂﬁlr?f:;?iﬂm?uﬁi and Farmer
Minisiry O
s wellare
(8) Ministry ©f

12.

(C)
(D)

1
ﬂﬂﬂ;

B 0004.05,10,1,12,14,18,18,20.22.2,24,25,20,30,12834)

=

7. v uryarr i ®
sifeaEs § soam
(A) 1 fae, 1068
(B8) 1 3, 1966
(C) 1%, 1966
(D) 1 farran, 1066

8. uw fafrm wm m o ifsmed] 92§
2 x 107 oy P sitt yeefy famres @ B
3 x 10" TR/ TFE | T 2 % 10" T
fartzA g T & #ft s 2 A
(A) gx'lﬂ" T | TS
(B) 0693 x 10! TH]/§E
(C) 3 x 10" T /F2
(D} 3 10" T /AFE

o, et wk 1 2 s & e v =

firs 71 9 e & |
(A) TR T
(8) WFHT T
(C} TN HF
(D) 3FF
d, 3713 e = T
o :;; ﬁmﬁf&?@aﬁ mﬂgm?:t
() 2fw (8) &f
(C) g.ﬁz (D) g-fae
11. R i et # fa@m b
(A) FEIH (@) fram
(©) (D) ETe

12. mm;ﬁﬁaﬁmﬁgmﬂw%
(A) T T S e AR
(B) et wemA, 741 fam af
G RATE
(C) gr#tmﬁfmﬁmq
(0) 374w & @ wit
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13. Thevalueof (1+.1+.01+.001)is

14.

16.

18.

(A) 1.001
(C) 1.003

(B) 1.011
ADy 1.1

The number of sleepers per rail length in
meters represents

(A) Gauge density
(B) Rail density

{C) Track modulus
(D) Stesper density

N
A4
| [tanamlnn“:'x]dx:
0

1 1
(A) — (B) T
(©) % O 3

Maharaja Agrasena ruled the Republican
State, is

(A} Patiala
(C) Rewari

(B) Kunal
AP Agroha

Aspeech signal 0l 3 KHz |s used to modulale
a carrier signal of frequency 1 MHz, using
amplitude modulation Lthe Irequencies of
the side bands will be

(A) 1.003 MHz and 0.997 MHz
(B) 3001 KMz and 2997 KHz
(C) 1003 KHz and 1000 KHz
(D) 1 MHz and 0.997 MHz

Which register holds the address of
instruction 7

(A) Program Counter

(B) Address Reglister

(C) Data Register

(D) Accumulator

13.

14.

15.

16.

17.

16.

(14.1+.01+.001)F TR
(A} 1.001 (8) 1.011
(C) 1.003 o) 1.411
ufa Yar ward (e ) =i ) Ten
_ =qptiR
A REEEE]
(B) T e
(C) &F ftad
(D) =R gT=
i
j (tansxuanmx]dx:
0
1 1
‘< 8)
1
€N @) 3
BTSN 3106 3 T 9T T
)
() i (B) Foww

F A T S B 9 Kz 91 R 1 O A
W W amiaffa w=@ ¥ 1 MHz smafa
s N @ | Fargern safEds @ wam
% =3 = gl §

(A) 1.003 MHz 3/ 0.997 MHz

(B) 3001 KHz ¥ 2997 KHz

(C) 1003 KHz 3% 1000 KHz

(D) 1 MHz 3 0.957 MHz

i TRt P W s w7
(A) ST FTE

(8) 3w ey

(C) T

(D)
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19. Theriver Yamuna runs Iram Yamunanagar

. . TA TR A T A a1 & AT
lo Faridabad 10 make the Ilood plains. 9. T

T ol T=dql |1l
These plains are divided Into two parts, the ¥ 2 e ft_ it 8 %2 2,

higher one is called F TR |

(A) Nelli (B) Kaithal @A) 3 (B) e

(C) Knhadar (D) Bangar (C) T (D) =

20. InLimit state method design ol RCC beam,
if actual deplh o neutral axis is grealer

20. A i ¥ i fafa fafa femrda #, T

Terd i #) awwiEE e e AE
than the limiting value, then the section is

considered o be

(A) Over reinlorced seclion
(B} Under reinlorced section
(C) Balanced section

(D) Singly reinfarced section

IRy

21. Kaunayen chicken, a new in:[igenqus
chicken variety mainly found in which of
the following reglon ?

(A) Manipur

(B} Tamil Nadu

(C} Rajasihan

(D) MNone of the abave

g, M= Lz ekl
(a) e gg &
(B) Fﬁfﬁ' T,
(C) Wafem &
(0) T334

21. gﬁ'aﬁﬁﬁﬂﬂﬂum.mﬁeﬁﬁﬂﬁlﬁﬂ
ﬁﬁﬁﬂilﬂﬂﬁ‘ﬂmﬂ:mﬁ'l?ﬂﬁ?
(A) TR
(B) THTHT,
(C) FELIE)
(D) Frdwm # A =S

| & e wfin
23, Theadmixtura (hat slows downtheghemical | 22. TE sRffimn = Femsm

of hydration so thal cancrele = o = Ee & nfs e ereeia w Al
I:::;:spluml.u and workable for 8 longar = IEf foq T
pariod is

(A} Super pluslicizar,{ﬂ‘] Retarder
(C) Accelaralor (D) Flyssh

[ 1
™ - |
23. g valus of 11u‘ 8

(A) 1025 By 106
sy 1.8 (o) 18.5
94, Tnomajor river which llowa in tha State (s
. Ganga () Yamuna
:,:'; Elr:l‘-'flﬂ (D) Drishacval
1.55-""

o T

(A) gREnfRer® (8) frenk
(C) TS s

2. .Jnu% wamd

(A) 10.25 (B} 10.5

(Cy 11.5 (D} 18.5
24, TR ﬂ.m R T %

(A)y ™ (8) TFN
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28.

30.

31.

% sin® x
dx =
0 ¢0532+51I‘I.3H
A 7 ® 74
(C) = (D) %

Oxygen required for blclogical decomposition
of dissolved solids or organic metter In
wastle waler undsr aerobic condition at
standard temperature is called

(A) COD (B) TOD
(C) ThoD \D) BOD

The river originated from the Har-ki-dun
glacier In West Garhwal s

(A) Saraswatl (B) Ganga

(CY Yamuna (D) Godavari

The levelling adopted to determine the leve
difference between two poimt when it is not
possible to set up the level midway between
the two points is

(A) Profile levelling
(B} Reciprocal levelling
(C) Differential lavelling
(D) Check levelling

S| unit of conductivity ofa malerial is
(A) Siemens/meter(Sm™')

(B) mho (U)

(C) Ohm (Q2)

(D) Ohm meter (£1m)

Computer presently come with a clock
speed of more than

(A) 1KHz (B) 1Hz

(C} 1MHz (D) 1GHz

The ancient name of river Markanda Is

[9}/ Chajju (B) Yamu
(D) Dohan

(C) Aruna

25.

26.

27.

28.

30.

3.

|
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a/
72 3

sin“ X

o cos®

(A 3

(C) =«

dx =

B) ¥
© Y

Sra 71 2fE wd] & TR 99
# &fm armea ¥y AT wme § W
ATIUTR T FiTed AadE
(A) COD () TGD
(C) ThOD (D) BOD
TR AT -1~ TeRE & e e
Ecik
(A) TR
(C) THAT

wd = fagadl & e wemnt =oaEm A
BITEAT A 7, @2 fge & i afw
Fuifta 723 ¥ swAmE 4 w2

(A) TreTEE SEfem

(B) =gmnHl wfem

(C) Taw=l elaterm

(D) == w=fem

T o et 9 S1zE A

(A) ¥t /i fsmj]%"

X+ sin3 X

(B) T (U)
(C) m ()
(D) @ W= (Qm)
VA 3 S R 31firs
AT TG @ 3T §)
(A) 1 KHz (B) 1Hz
vy T o AT W
(A) T (B) am
(C) ¥= (D) @wem



32.

33

38.
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Is a non-automatie rain-gauge.
{(A) Weighing bucket rain-gauge
AB) Tipping buckel rain-gauge
(C) Symon's raln-gauge

(D) Float type rain-gauge

The river which originates from Shahpur
village and maets Chautang river at e place
called Ladwa. Il is also known as river

(A) Dohan (8) Chautang
(C) Rakshl (D) Krishnavatl

Which ol the following Is a indigenous
variaty of bull 7

(A) Murrah

(B) Nill Ravi

(C) Sahiwal

(D) None of the above

The heavy soll found in Thanesar is known
as

(A) Dabar
(C) Kaithal

(8) Nell
(D) Khadar

amount of chlarine consumed in
Thhee oxidation of impurilies. before any
disinfection IS achieved is known as
(A) Residual chiorine
(B) Chiorine demand
(C) Free chiorine
(D} Total chlorine

7,6 and x is 5 and the

Tha |
evecane 01§ ,aandy {s 10, What is

average of 18, 1,6
tha value ol ¥ 7

(A) &

C) 20

(8) 10
(o) 30

=1 Saismic wave makesa matenal
pariicla ascillate In an elliptical path in the
varical plane (with horizontal molion along
ha direction ol anergy (ransmission).

{&) P-wWaves

(B) S-Wavas

(C) Love - Waves

(D} Raylaigh - Waves

32.

35.

36.

ar.

0,
lllﬂ‘.m.ﬂ!ﬁ.‘ﬂ.‘ 1,12,14,16,1 njﬂj?.?ﬂ,!‘.?ﬁ.ﬂ.ﬂ

37834)

ﬁﬂt-ﬁm?ﬂ'ﬂ‘ﬂﬂha I
(A) ST et a
(@) Ffim el @i m
(C) TIEEA @l ma
(D) A W A

4 = e A Freere aeal AT
Emaﬂmaﬁaﬂmﬂ ™
vizea § |
(A) EEH
(C) Tl
ﬁnﬁ—rﬁ!ﬂiﬁaﬁq-ﬁﬁaﬂm@ﬂmt?
(A)
g) Hreft well
(C) TEET
(D) Fdm B8 T

urrere & = et wd e
FEam 2 |
(B) Feeh

(a) TTEL
(C) Fus (D) @t

ré iz Tivga E A g afedl 3T
T S i aE_ wEenEl Bl

2,7.63MxF afmastafis, 1,6,x7
yw st o IymaA TR ?

(A) 5 (B) 10

(C) 20 (D) 30

_ fofor am ks gerd s W
Wﬁﬁ%m‘w&i‘mmﬂm
(F=i s o form A dfert nfa % )
(A) P .M

(B) S-wm

(C) =@ -am

(D) ¥ -7
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39. Inwhi
fgl]:dc:'?h dislrict of Haryana, manganese Is a9, s & Frg et & SIS A S 27
() Kamal (B) Mahend (A) FE (B) wWEETZ
ragarh ;
(C) Hisar (D) Gurgaon (€) femm (D) T
40. The are .
C Hndh’.:z‘ﬁsﬂunﬁadh}'!}’:1,1’:0.};:1 40. &ﬁiﬂm::y=1.x=ﬂ.y=1aﬂ1
A) 21 y=2
{[c; mgﬂgz %) log 2 (A) 2log2 (B) log V2
(D) 2 (C) log2 (D)2
4. PERT stands lor
(A) Programme Education and Reyi 41. PERT 1 o @
Technigue SVIEW N g \ .
(B) $mar£:mm& Analysis and Research A | G U freg et
echnique - AR :
(©) ?r‘uﬁrqmmﬂ Evaiuation and Review ) s et
echnigue - ) . 1::
(D) Performance Evaluation and Review ) s ﬁa‘!"
TEChn!EIUE {D] mﬁﬂﬁw{'ﬂ:@ﬁﬂké .
42. Topromole the development
Government framed its uwﬁf mt' Har?ar_.: 42, T F e ) wgn & fou sftarm v
the year ' PRy, 3 AT = fif g F=nt |
(A) 2003 (B) 2004 (A) 2003 B
) 2004
(C) 2005 (D) 2008 ©) 2005 (D) 2006
43. [|UPAC name of [AG(NH,),] [Ag(CN),] is 43, [Ag{NHaj ) [Ag( CN),] 1 IUPAC 771 &
(A) Diammine silver (I} cyancargentate () (A) mmﬂ:{ﬁ:l@[!}m aTeris I
(B) Diammine silver (I) cyanate () (B) Zmam fye e 0 ()
(C} Diammine slilver (I} dicyanoargentate (|} () mmﬂ"'ﬁ{ﬁtﬁj
(D) Dlammine siiver(l) cyancargentate (l) () Tt farem () mg il ita"'ﬁ“"%f“]ﬂ]
44, Anldeal fluid is defined as the fluld which s | 44. & 3l F9 ag xg 4, )
(A) Cocmpressible (A) witm &
(B) In-compressible and viscous (B) SEEy o o &
(C) In-compressible and non-viscous (C) i i avars ¢
(D) Negligible surface tension (O) 7 It wrme
45. Gurugram district derived i nama from iho a5, TFIW Frd w o & 2
name of eI Eﬂlt_ [
(4) Dronacharya  (B) Yoganand (A) Neerrd (8) trmrig
(D) Muktananda (C) T&um (D) T

(C) Gurumayl
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46.

47.

48.

(b

50.

a1,

e Y

RENIEN RN TN RN RN NSy 1A

It @ bearn is fully loaded with the unilormly
varying load, then the equation ol the
bending moment will be

(A) Linear Variation
AB} Parabolic Variation
(C) Cubic Varlation

(D) Quadratic Variation

North Bridge or North Chipsel is responsible
lor controlling the compaonent [lke

(A) BIOS (B) RAM
(C) USB (D) CD ROM

In Haryana, the elephant rehabilitation center
is localed In the district of
~A#) Yamunanagar

(B) Panchkula

(C) Rewar

(D) MNahar

It 3 cumec of water supply is required fora
crop sown in an area of 5100 heclares, the
duty of irfigation water will be

(A) 15300 heclares/cumec

(B) 1700 hectares/cumec

(C) 5.88 x 10~ cumec/hectares

(D) 5100 heclares

The Navagraha Kund is located &l
(A) Karnal (B) Sirsa
(C) Kaithal (D) Hisar

What Is the presenil rank of Indla In terms
of fish productien in tha world 7

(A} “Indla s the |argest producer

(8) India ls the second largest producer
(C) India Is the fourth largest producer
(D) None of the above

As per IRC width of canlageway for a single
lana Is

A7) 3.75m (B) 4.0m
(C} 26m () 70m
— n ;f"

{o1.00,05,10,11,1 2,14,16,10,20,22,23,24,25,:2%,

30,32534)

46. uﬁﬂ#mmnﬁqﬂmmﬂqﬁ%ﬁ

47,

43.

49.

50.

51.

TR B, ) A ST

(A) i fafawm

(B) e fafaum

(C) Wi ffawen

(0 Fawira farfawmm

i e e TR
1 Frfm e ¥ o, o] B!

(A) BIOS (B) FAM

(C) USB (o) CB RCM

e & e e L e AfRER
(A) T

(B) aEal
(cy @l
{2) 5

S 3 Gt 1 AT e e 8
g;%%ﬁmﬁﬁam%,ﬁﬁﬂmt
(A) 15300 Fa24U/FAF
(8) 1700 EFeAT/FGHT
(C) 588 % 10~ FIHF/¥FAL

(D) 5100 BeaT

e 555 FE fem 8 7

(A) THTATEA (8) fEmE

(C) uw Dy femm

S 3 wa IeaTEe T a1 A=
wH 7

(A) HTTH TR T IET &

(B) WITGR THY Heaw WE I ¥
(C) WA e WA Wy I
(0) I @ @ whf el

IRC T ITTAT T THE 7 ¥ AT h
wgri 8

(A) 3.75m
({C) 26m

(B) 40m
(D) 7.0m
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buill a palace In Namaul
who was the Diwan ol Mughal emparor,
Shahjahan.,

(A) Ral Madhav Das

(B) Birbal

(C) Ral Mukund Das

(D} None ol the above

A number Is doubled and 8 Is added. If the
resultant is tripled, t becomes 75. What ls
that number ?

(A) 35 (B) &
(Cr 8 (D) None of thess
1) = cO8X — CO8™ + cO8™ —..... to =, then
%2
J' I(x)dx =
0
(A) 1 (B) -1
1
(C) %-5 (D) %‘“%

The setting action of cementl Is reduced by
adding

(A) Lime
(C) Gypsum

(B) Silica
(D) Alumina

Kalaam-e-Nairang s a compilalion of poatry
written by

(A) AMalHussain Hall

(B) Syed Ghulam Bhik

(C) Murari Lal Sharma

(D) Allama Muhammad igbal

Which one of the following Is not a federal

nalion ?

(A) Spain (B) India

(D) Brilain

(C) Canada

63, TTE Wi, YTEwe! & faar 3
el # U W a=ara |
(A) TI HTE =TH
(8) e
(C) T THa &
(0) I AR Tl
54, mﬁwaﬁz’mmwta{ltﬂmﬁ
ahmm!mﬁw&mﬂmmfﬂw
i a ) 7% 75 B STl 8, T8 wen
TR
(A) 3.5 (8) 6
(C) B (D) Y5 &% 7
55, 3R {(x) = COSX — 008X + CO5™ = ..., & w0, 7
?/
jaf{x]dx=
0
(A) 1 (B) %—1
(©) }é—% (D) %-%
s6. filfe & #23 v foeri 3
FAWAENR |
(A) (B) fafw
(C) Foram (D) QE[!EI:T
S7. ®OWM-U-N__ qwr feredt s
FEEEE Y |
(A) ST i wh
(8) e T fi
(C) Tl ety
(D) &M Mo vy
50. PRI 911 i g
(A) €R By @
©) ¥ (B) ¥fam
(D) farem



i S |

FEa S S T ——
IIFI’IIIIIIIIIIIIIIIIIIIIIIIIIIIIII'I| 1m19iﬁtm.uﬁ,1u,11,1m4,15.1;@;:,:3,21.:5,!1.3!?.32&341
(594 USB supports a data speed of @ UsSB 1 721 if =) =T B
(A) 1 mbps (8) 15 mbps (A) 1 mbps @) 15mbps
(C) 12mbps (D) 10 mbps (C) 12mbps (D) 10 mbps
60. The maximum value of friction forca beyond | g, wrdor == %) srfswam w1 fomss 9@ L
which frictional force cannot increase and &t T =g = A of FH T Y L
the body begins ta move in the direction of &1 fegn B o sy a2 B,
force applied is called wEaai |
(A) Anguler Iriction (A) o T
(B) Limiting friction (8) it wEm
(&) Static friction c) f&fes 1 b
(D) Kinstic Iriction (D) e we
61. Rajiv Gandhl Thermal Power Station Is | 81, TS T i tem__ AfEmd)
located al g) e
(A) B (
(A) Khadar (B) Kalayal ¢
(C) Pundr (D) Bahadurgarh (C) g=a (D) TEIFUTH
. B c 94
§2. Which of the fallowing rank is the g2, wmrta i | fam < =T AR T
supreme rank which will be awarded in fefafma iR eA-ark 7
the ln{gian I'IEIU}' 7 (B) Captai (A) T (B) +=iH
(A) Genera plain s s
(C) Admiral (D) None of the abov (€ I (D) IEWAAFET
63. The lorces, which donot mest at ope point, | B3. ?’ﬁﬁ' ﬁﬁﬂi“qﬂ forerd wig I TR
put thelr lines of action lie on tha same mmﬂﬁ q mﬁi !. _mt |
plana, are krown as (A) HETEE BHEH] 9o
(A) Coplanar concurrent forces (B) mwAEa e ikt
(B) Non coplanar nnn-cun-:ur;ant lorces ©) vy e 7
(C) Non coplanar cancurrent forces
(D) Coplanar nen-concurrent forces ©) : e Eﬁ
64. dynasty is also called as 64, __ ammiafanviwrd § |
Vardhana dynasty. (A} Tl
:g1 Muggal (B) wrEEd
(B) Pandyan c
(C) Chalukya :D; wa'ﬂ“
(D) Pushyabhuti
5. Differential coefficient of constant is 65. UF Fraaim =1 a1l i €
(A) Same (B) +1 (A) M B) +1
{c) © (D) -1 (Cl] 0 (0 -1
€6. Tne highest common factor of 36 and 84 s 66. 236 31 84 T HEAH WOATEE &
() & (8) 6 (A) 4 (B) &
(C) 12 (o) 18 (C) 12 (D) 18
‘______‘__——-"f"'-"l'i =11= A
) 2
v AN 18
* =] 1}; o 3 L -) — )

Far LA
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67.

69.

70.

7.

2/

2
I" sinB x {(BX7 —4x5 + 3x7 + 2x)dx =

-3

[A) = ) o

(C) 15 (D) 9

The Financial Budgel for 2017 — 18 was

tabled by Haryana Finance Minister
(A} Chidambaram

(B) Mahabala Khattar
(C) Captain Abhimanyu
(D) Venkayyah Naidu

Article 356 of the Constitution deals with
which of the following system 7

(A) Special provision lor Jammu and

Kashmir
(B)
(C)
(©)

Power lo Judiciary 1o protact rights
Power Lo President 1o appoint PM

Power to President to declare Stale
emergency

Data bus provides a path 1o transfer data
between CPU and

(A) RAM
(B) IO

(C) ‘ROM
(D) Memory

Indori river rises near
(A) Karal
(8) Indore
(C) Kaithal
(D) Bhiwanl

67.

89.

70.

o
;2
j‘ gin® x (67 — dx? + 3 + 2x)dx =

4
(A) =
(C) 15

(B) 0
(D) 9

2017 — 18 & fou Fasirg wre v & faw
LEil T T2l W TE AT |

HiauA % sTez 356 Fi=tetaa 4 3 fm

HoTTe) | Heifia 7

(Ay. 5 afn wodn & fou s weam

(8) fumm & v F fau <amia =
HfuFm

(C) mﬁmumnﬂﬁﬁmm

(D) mwﬁrﬁam%ﬁqmﬁ
= atfir

Wfgaln . FHdmzmwEmEe
= % Rz aw e T &)

(A) RAM

(8) 1O

(C) ROM

(D) WwTd

7. ¥l w s & ez vt |

-12-

(A) TS
(8) ¥

(c) %um
) frr
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T2,

73.

T4.

73.

perpendicular unit

Il & b, ¢ are mutuall
vectors then ‘ﬁ +b+ Er

W
(B8) 1
(€) 3
(D) O

The Vemnacular Press Act was passed by
British Gavernment in India In 1878 was
modelled on the following Press Acl.

(A) British Press Act

(B) USA Press Act

(C) Irish Press Acl

(D) German Press Acl

Execulive Depariment is led by
(A) Finance Minister

(8) Home Minister

(B) Govemof

(D) None of these

= (2, 4,6, 8] under

In the group G 2

multiplication modulo 10, the
element 5

(A) €

(B)y 8

(C) 4

(D] 2

The ruins ol Hampl broug ht ta light by which
af tha lellowling British official 7

(A} Macaulay

e) A Whaalar
(C) Calin Mackenzio

(D) Iban Batula

G 'qu
(Vs

r 13-
VY R s

I".[N.N.IIE.WJ1.12.14.15.1ﬂ.:.'nr::.:a,:l,:s.:u.r-u.:zl.:m

T2

74.

75.

76,

n

w6, 6, & e e e dv b, @
|:i+|:1+f:l:

(A f3

) 1

(€) 3

(D} ©

1878 i Fafey T g s i AT I
mﬁrﬁmmﬁaﬁﬁnnﬂm,ﬁﬂqtﬁnﬁlﬁw
g aifufm snari@ 8

() frfen e sxfifAae

(8) quFe W N

() smafrim wfufr

() = I ST

ardmt R g T
frmramm & |

(a) fom st

(B) e

(C) Tr=arE
(o) TE AT
gﬂﬁnﬁ%{mnﬁimmua:{z,n,ﬁ.a:.
i, gam s EA-TR T

(A) B

(2) B

(C) 4

(D) 2

wft 3% wrewe e fafen stfedt oo @en
T ?

(A) et

(B) T, WIE

(Cc} wifer filt

(0) YA w
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wraT
English Language fe=t wma . _

Fill in the blank with article. - g5, <1 o1 weTad % A T A & 6,
77. climate is one ol the many faclors

invalved in changing h;nmlngrI methods. o a ﬁ

B) = EE

(lé; #hg ED} Not needed (A)
Fill in the blank with appropriate preposition. (B) STFEEN
78. Her continued etfort was crowned (C) faan

CCESS. ;

5}1';. :.r {E} with (©) %=

}G] o (0) al
Select the appropriate option for the underlined g6, Frien 3 fF =129 By 1ew s A =
word.
79. Bookings must be made atieasi seven days FITH FHH & ?

belore departure, (A) Fai

(A) preposition (B) adicle

(@) modal (D) noun (B) &
Flnril out the erronecus part of the following (C) =t
sentence. | o) (3
80. |shall have completed this work by the ime

you retumed from your trip,

(A) | shall have 87.  wrwr vl 3E 8

(B) compleled this work

(€) by the ime you retumed (A) # {8) Wi

(D) from your trip (C) W (D) Ve
Fill in the blank with appropriate word,
B1. The castle stood the lake, ge. = g ek f

(A) besides (B) beside E—

(C) between (D) among (A) 26 (B) 36
Choose the antonym of the word in capital. (C) a3 (D) 35
82, VAGUE

(A fint 13) hida 89. TRET W= __ wEF R R |

(C) cheep {D) clear
Add suilable question tag for the following. (A) g
83. Wae creale our own tradition (B) sr=ydh

(A) dowe? (B) doniwe? (C) a-gffﬁ

(C) didwe? (D) didn'lwe? D) =
Choose carrect varb which agrees with the
subject.
84. Either intelligence or hard work 90. ZEE I HI T ¥

(A) Is (B) have -

(C) were (D) are (C) FafEh (0) e

«14-



